January 19, 2022

Statistics

Winter 2022

Lecture 8

Review 0S5 odds:
G'Wen P( E) = e \?

) Sind\ P(E)

P(E) -1 - PE) -1 — .8 =32
D5 03de n Savor 07 evedt E
PCE) : P(E) =p -18: .32 =P |4l !

To Simphily B3I @@\En_ﬂ@ —?ﬁ
3)Sd oS Ofminst eveydl E.




January 19, 2022

Ex.
0Ads

) Sind

;D S'\r\.c)\ P( E)

PCE)-

ab
Sov RumY £ Owe 3232

OAAS ewenY €
i?ﬁ : Si

2)5ind P(E)

PR e

A box hos 40O bel\S,
25 Red, 10 White, S5 Ble.
R&!\éom\\( Amw 1 \)&\\

DP(O Red) B)R( 3t Bwe)

85 5 35 |7 _
- —\o 2 :~__—__
A ILE T 4535)

3) OAAS in Savor og Blve boll 3 Bl 1« Bloe

a4— 5%
W) ode  agains) w\\\‘re ‘ol m
N W}\\R U

5) OAAS W Su\lor o% Bloe oR Red.
A QB\ue or Reé) % (B\ue ov Bloe ov RY)

30: 0~*>-




January 19, 2022

PA)=12 PCBY=.& R ond B

Qwe mu*ﬂo\\\‘)\ exdUsive  ewens.

DPR)=1- P(R) S)p(®)-1-P(®)
A ‘-&)?( & ov B)
?))Kp( cmc\ &> :j _ P(ﬂ) x?{B) /'?(A WA B)

_ 72 4.8 -049]

5)nshrud  Vewn Diogam.

)
A

%—‘.\\ltf\
PR)=.65 , P®):=N N and B Ove

Mée\m‘\&e(\* everls.

D PCRY =L 65 OYP®)-1-4
=(:39]
) P(A ad B) ‘\)'P( A or B)
_P(R) - PCB) -B(R) + P(E) Phond B)

S 65 A W26
- ,65 ,L\ = .aé
e e
5) ConsivueY Venn Dingvam
ARonly): . 65 - .26 = 2

P(B o“\V\\): .Lk — 126 - "\L\
o=V~
) PR, or Beit)- .21 vy -[53)

3y P(R ond (A orn):1-9=(21]

De Moropa's Luw)
DP(R or B)-P( Ror)-1-26=[T4




January 19, 2022

A PopY baak has 2 o(voﬁws and (0 1y
Sowose wWe Shoke it T ‘\mP & Coins,
NN N > 04
N & NQ .
S —»30
an Somple. Spae an
(e Qg 0%
10 9 SO
P(To‘\b\\ :\0 ¢) - P\M‘Q) I?. /_L'S_ \32
0 & |\ %0
P(TO\'&\ 30¢> P(lNEi@ ?-(‘?_ 11) |?>?_
2
P(\o\‘o\\ 50¢) P(&&) \a H - _ggi

Tl (D) | (WA ) Cleoy ol \ichs
(0(“_ \ Cio/(32 E]\‘j‘:dewd\ \ts*s_l\f:ﬁtw [
40/3> Rk Al lisls
308 \ 2/ \STAT| EQ 5" Selup: aor Bk
508 7132 ol L1 Ly o
P(Tot) M "o faosiz2
evir
- 30 (w2
1 1—\l°~v Steds 50 a'fégd
WK Moy ) No Meny = i
\_(S\-_\_‘& 1_\10\\/ Sﬁ% /x: “)os \/
eyl Wi, NE B\QQK\/
LCa\cd\o\‘te @B
n="1L \/




January 19, 2022

5 cﬁma\t% FFF
\0 MQ\QS FF M
' FmF
S 3 A erent pPOple
ey . I\ C o Smmp\e
? Femal :—B_.L.i m F - S pace
P( Qmo\e‘b) 5 g 13 " e ?ﬂ
1.2 W ™M E
% m M

0.9.,8 . \;-\j_\
P(3Maleo): (2 4 75 (ST
KM Rma\e) -1 -P(No Fema\t)
0\

24— PCAN m\es)ﬂ%\—?

Pl das) 1 Male) =1 -7 No male)

PO Fenaded) -1 -& Eh

U

Suppose P(G-M>:. L PC o) =M
Copsider O Jomily with 3 childven

(5 )= (D) Lost]v”
P 2 800)= 3(EDN-9) 1:288)
PCeaci 1By ) = 3(ED(000) 422 v
P96 e =(6)(6)-6) = /




January 19, 2022

+ Boys | P(% Bovo)

o \ oY Clear oM \isis
o 268 wBoyo P11
—Aﬁ P(%Boys) DL
. use 1-Vo Steds
O | 2% i L1825
x=1.2
= Blenk
Yokl
=1 e Prob.
(ondiRoval  Probo. 5 38
(A ond B
PC B\ A):
) RCR)
Ex: P& ond B)
P(A)--T PBIO-— 5wy
P(B) = oL‘ °3 - :@
P(Aond \533 .3 3 E—B

PR\ B). Pend®) -3

3
P(P) A0
16)




January 19, 2022

P( { Phone)=.15 [ ()

P (Rod) =1 e

P(iFhone snd (R)=135 | o

Td‘m\ = 1

. _ QP((P‘\OV\Q wA( )‘ ﬁ:@
PP | (Phone)- Pty %

. ) ) P((?\\ou{ ond (PVA) _$35 ) —
P(LP‘\OV\E\ LM) - P((?ac\) - A —

505& S gpne S\\OF?XV\G.

Pants cnd e
T
P( Shoes) = PP ond )

Poats | Shoes)= . ©
" ’ \ %> Cvoss-M \"ﬁe\‘f
P Poars ond Shoes) =(D(6) =23)

| Saet= Shoes o
P(Shoes|Rat)- =]
[ 2




(.ouﬂ’ﬂna Methods:!
Pk o nowmber Svom O to Q.

Yoo have [0 Chorces

PY QuesS it Co wed\\() - 1‘—0_

Pk on Mowmber Svom 1 1629, then
Pk o lekber Svo Erlish alphabet.

You hwve 29 chotres Sov momber, then
with everyone o5 thase choies, ou ke

\eev
148 1B 1 - - - - -1z
on om 2 - - - 28
S - 2%
oo have 2% (26) =650 Choies
(1 owess i Covvediy) = L
? Qe wred \) 250

oMs 15 guess Convechiy

5 StodeaYs
Adew PN Cowol Dowid Ewmily

1 meed T Stledt 2 Prople

e P DR DK 5120
A

1§ ovAQ{
Ao, not
mai ey,

e Cho\‘eg

CombinaXion  Formule
n A S vt ob\jec’vs/ Chopse. Y O‘OJ'&JTS/

ordey dogs meF matter

. _m st
’“Cr— (o) 5(:2 a\.-(&z)\fm

5 (M0 PREY|G] ] 2 [Enfed

R \B‘é Seckion

January 19, 2022



January 19, 2022

3 Peor\e/

Sdlecy 2 oS thew

oy ovder

How whony WaNS  on his be Jone®
ooy el

ca Lotto —NO Mg 0 > <Rlect B Numbers

oot o> 50 muwmbers, How many Ways <

50C5 =2 118760

5 Females , 10 Males  Select 3 people,
No ¥ e?\m(emex\* , Ov IRy does ot matter.

D How many ways an we Jo thes?

53 =455
2) How wmanys Qg we Selet 3 Females?
. C._-
53700 = 10
531050 0 2z

3) P( SQ\Qd 3 F@.W\Q% :'T‘_D’C?' 455 al I

1) How many{ Was Can We Select 3 Mo\\es?

Co"i07> 180

o« L
5908 120 - )éﬂ{
5) P(Qe\ed 2 Ma\es): 5Cs 455 N




January 19, 2022

A Quorters, D) frow many ways Can we
10 Nekels Selecth & Cetne?

Select & Cons \acg )

No ftf\ncemen)f

QYAN does " 2) Wow many waqs Can

Mot Ry we Sdet L o) eoch s
gcf 0120

?))?( 1\\\5‘1&): 2C1"0C1 .20 _ 10
ot 6 I3

A box oo ¥ Red, T White, and 5 Roe

Coov  loolls.
Select > balle,

8C1'7Ci‘5ci
P oy each color)= W

- e
~ 4140 | 5

P(2 Red aad 1Ble). %2 % s
2053
140 11
11 %0 27




January 19, 2022

Ulondowrd  deck o5 P\MMS Covdls
52 Cowds, 4 Aces

Draw 3 CodS, No reP\a(ewaen’r.

C. ol e
A R Nl X
P AN aces), W =

C...C
P(emc\'\\{EA@: A28 1—__
52C3

C

“Crase

5203

C. .ucC (
50480 ya
P No [tes): -
o fe) 5253 @

P(Qmﬁ'\\\( 1 A(Q) -

Q’ CC‘DW\FO«\\‘( h;ye5 e o ‘)GO‘D\Q:
10 Mommﬁ , 3 ASfernoon, 2 ‘3mva‘{m! hikt

You ovre the monager T achedole thewn.

Wow Many Wal{s Com Yoo do Y8
W\orﬂma ANrnoon ngue‘i&ro\
setio 1053 . &2
R@>\4,020

AN ermoon GraveNovd W\Oﬂl\'{\&
203 e 0ho —




January 19, 2022

0se L1 EL2 To Sind
x-28

3= Bk

el




